Potencias de 10 (I)

7410

6310

2810

9710

221000

591000

321000

88 =100

53100

90100

Calcule los siguientes cocientes.

291000

80100

18 =100

84+ 100

38 =100

98 =10

74 <1000

12100

710

5410

MatesLibres.Com




Potencias de 10 (I) Respuestas

7410
7,4
63 =10
6,3
2810
2,8
97+ 10
9,7
22+ 1000
0,022
59+ 1000
0,059
32+ 1000
0,032
88 = 100
0,88
53100
0,53
90 = 100
0,9

Calcule los siguientes cocientes.

29 =+ 1000
0,029
80100
0,8
18+ 100
0,18
84 100
0,84
38+ 100
0,38
98 =10
9.8
74 = 1000
0,074
12 +100
0,12
7=10
0,7
54 +10
5,4
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